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Evaluate the following definite integrals.

5
1. f (3x*+4x+1)dx
1

5 5
f Bx?+4x+Ddx=x*+2x*4+x)
1 1

=53 +2(5) +5]—[13+2(19) + 1]
=180—4

=176

2. f(2x+3\f3_c) dx

9 9
f(2x+3&) dx = (x? + 2x312)
4 4

= [92 +2(9%/2) ]| 4% +2(4%/?)]

=135-32
=103
4. fx3(1—2x4)3dx
1
0 4441 0
1-2
fx3(1_2x4)3dx=_g
1 32 1

--|G2)- G

=0




Solution

3 ”
/ 2dr = [
-2

(%) - ()

65

= 16.25

Example

/2
Find / cos xdx.
0

Solution
/2 .
/ coszdr = [sina]]/?
0
. (?T) 0
= sin (=) —sin
2
— 1.0



Compute each of the following definite integrals.

6
1. /7.':2 dx
0
7
2. /:132 dx
1
3
3. /2::: —5dx
1

10. /l dxr
T

2

12. /1 dx
T

1

1
13. ]%\/? dx
0

12
14, /\/3: — 3 dx
7

™

15. jsin;;r: dx
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17. / cosx dx
0

/2

1R. / cos 2r dr

0

/2

18. / cos 2r dr

0

1
1
lg /W dr
0

23. /r?. 3 dr
0
In&

24 (e —e ") da
0

3
25. / 2%dx
0

1
26. 2/#1—Fdﬂ:
1

(Hint: Don’t try (yet) t
solve this algebraically. I
stead, draw a picture!)

27. a /‘7 dx
1

N

b) Ihm-[

1
N
1
b) 111)1:1>C e dr
1
N
28. a) /(3 2 dx
1
N
b) lim / e da
N —oc
1
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29. a) ]'1‘2 ) dr
0
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9. undefined

10. In4

11. —In4

12. undelined

13. =

4. —

16. 2

da
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2. Find:
(a) f(ﬁl-xz — 2x)dx

(b) f(Zx“ —3x¥)dx
(o) f(xz —x"%)dx
(d) f(Zx +1)%dx

(e) f(sz —2x + 1)dx

U)j(xs —4x3 +x? —x+ 1dx

(g) f(x —1D)(x+ Ddx

3_ 9.2
(h)J‘(x 2xx +x) "

3. Find the following indefinite integrals.

(a) f(le2 — 4)dx

) J‘ 2x?% — 3x d

X

(0) f(3t2 — 2t + 5)dt
(d)f(tlz+ t) dt

ANnswers:

4x3
2.(a) T—xz +C
DALy,
5 4
x3
(c) ?+x'1+C
4x3
(d) T+2x2+x+C

(f)fzdu
(f)f(zm%) dt
(g)f(x2 — V) dx
o | ot

v—2

(e)x®—x*+x+C

(f)x6 4erg+x2+ +C

6 T3 T Tx
x3

(g)?—x+C

x3
(h) ?+x2+x+C

(i)fo\de

() f (3:)52 + xz—g) dx
(f) ‘[(Jf/2 +x772)dx

0 f (ﬁg+x'1'3) dx

(e) f 2u?(4u® + 3u? — 1)du
(h)f(x +%)(x —%)dx
W f (3;::{: 1) "

0 f (1= V)3 + 2u)du

2
(i);x”fz+c
L5 1
[])x —F‘FC

2
(k)gxs/z —2x"2+C
2 -0.3
H)-—=-=
Jvx 03

+C



3.(a) 4x(x* -1 +C
(b)x*—=3x+C
(c)t*—t?+5t+C

t2 1
(d) ?—?+C

(DH2u+c
T
3 ‘o
x> 4 . X
———xl+—+C
@) z—zxltt—+

v
U)?+2U+C

()4u5+6u5 2u5+c
¢ 35 2

X 1
(h) =—+—-+¢C
3 x

1
(K)x*—=+C
x

. 4
(D) u?+3u—2u2 —Eu% +C

Thanks for lessening

Any questions?



